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Full Marks : 53
Pass Marks : 21
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The figures in the margin indicate full marks
for the guestions

1. Choose the correct answer from the
following : 1x7=7

(a) “The PO3~ group should be removed
before proceeding to analysis is
(i) group IV
(ii) group V
(iii) group III
(iv) group II
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2. (a)

(b)

3. @

(b)

(a)
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(4)

What is
: COmIno ")
the role of NH4(§ 'on effect? Discuss

of in ..
group Il basic radtilzzlsprempltation
° 1+2=3

they inte
rfere
basic radicale - € o
Establil;,ahdlca.l‘;’.1 inap ercill::atlon of
wi > Parti
ui group?

1+2=3

d it

Assumin

g 18 ¢~ 2x3=6
calculate the . TUe is bein

bOndS in the fOI_!ll umber Of mgt;bey ed:
Owin, -metal

() Fey(Co),, © complexes :

(i) Os, (Co),,

( Conﬁnued )

(b)

(c)

(@)

Answer any three of the following :

(@)

(b)

(c)

(d)

(5)

Write down the structures of the
following : '

() Mn3(COho
(ii) Coz(CO)s

Mention the conditions necessary for
isolobality of two molecular fragments.

Compare the reactivity of ferrocene
with that of benzene.

3x3=9

any two methods of

Write down
preparation of binuclear carbonyls

with suitable examples. 1%+1%=3

Explain n-acceptor behaviour of CO in

the light of MO diagram. 3

What is Zeise’s salt? Discuss its
structure. 1+2=3

talation reaction

Ferrocene shows (i) me
condensation.

and (i) Mannich

Establish with suitable examples.
1%+1%=3

( Turn Over )
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(6) (7)
6. Write a short T—IV
following : mote on any one of the UNI
2 .
(a) Ziegler- 8. Discuss the mechanism of the following
b gler-Natta catalyst ‘ p:oc esses (any three) : . 3x3=9
Schi - "
enk equilibriym () Alkene hydrogenation by Wilkinson’s
' catalyst
UNIr— () Hydroformylation by cocatalyst
1 7. Answer any Jour of the following - 3x4=12 (o Viacksr pros=
‘ (@) Discuss th 5 (d) Fischer-Tropsch reaction
: € associatiy
] substitiiti € mechanj
‘ sho\vsvn::::l Zzalétig‘:tahedral t:omall;;::‘:man(zlf alale
N profile
: 2+1=3
(b) How does thermOdyn" “
°°mp1.ex differ from jt kmc tiStablhty of
lain, . etic stability?
3
c) E i an
“ cc’:l:,lalm fans-effect in squ
Mplexes with Suitable g areplplanar 5
Xamples
(d) Discuss tp
e effect
fact of the
2 heacoomds, P Of aquation o
() Ch sed complex : jy4134-3
| Y Charge on the complex
‘ (&) Chelatjon |
; (e) Discuss the . |
| of a cobalt c::;;e:}'drplysis ‘reaction
. 3
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